CORREZIONE ESERCITAZIONE A
53) 27 ++/20 —12 —/5 =33 + 25 - 243 -5 =[\/3 + /5|

N

55)\/a J—13/ al\/_le\s/al

V2.5 Y2352 %825 _ zo i
8200  $200 %200

(2]

56)

57) +/9a3 —9a2 —(\/4a3—4a2 +\/a3—a2):\/9a2(a—1)—\/4a2(a—1) —\/az(a—l) -
=3a/a-1-2a/a-1-aJ/a-1=[0]

58) Q/(x+\/2x )(x— 2X — —\/x2 2x+1=9(x- 1 -

59) (V2+1)° =(v2) +3:(v2) 1432 22425 -
=22 4321432 141=22+6+342 +1=[54/2+7

60) L(@ﬁ\@ﬁji (Va+v2) -(\3-+2) 1 3+2+2V6-(3+2-248) |
9%(\3-v2 3+42 96 ( )( ) 9% 1

96(M+2\/—;34+2\/_) ( O K’(‘\ =

¥ _ A3 %
61) $%= X =|¥/x| oppure: W W =3/x

o o 2 f( 1) _
J3++42-1 \/§+(I ) ~(V2-1)
V2(V3-V2+1) V2(V3-2+1) ﬁ(f—x/ﬂl)_ B3-2+1
3-(2+1-22) s-2le2z 2B L2

%ﬁ

63) J19—6\/§+\/17—12ﬁ_\/(3ﬁ‘1) +\/(:*"Zﬁ) B
V2 ) V2 B
_32-1+3-22_2+2_A2(1+42) N

V2 V2 -1




	CORREZIONE ESERCITAZIONE A

